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HEA e Sa-fEhwly
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Faet 2,8 AN 4 .
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afhd S % ouEl @ fife
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i A ﬁ??rw%;%rqai-@lwmﬁg
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HGY-P-JHKI

(2-B)

(b) = BT
(c) LISAMIIFEET
(d) 3AIeaE LISA

Fefafga woat w fem Hifvm .

1. 9l JSdr % 378 A1 I Sa
qreft IR e ufada fru
ST &b § | :

2. <fh w1 AW I ¥ o g i
raeen § gorfed frr st wRaT £ 1

3. #F4a @ FgRIh e (pluripotent stem)
HINHIAT B UH YH S Yo F AR
IERIRSIR Cor -

ST FUA B A HAEVA YR 0

(a) wHad 1 -

(b) e 233

" (c) A 2

) 1,233

WG o :‘Eﬁzﬁﬁ H’ﬂ}tﬁ Jeefty (Pneumococcal

Conjugate Vaccine) % 39T =T F7 Taeg & ?

1. ST A @k Ty @ ey
3 Bty & feg wweh § )

2. 3 vfestfaferal w ol = 6 51 gt
? S ofvuyfldt Sempett ¥ famg
Tt TE @ |

3. ¥ 35 % W M Y9G (side offects)
T E R T & Y Jwfm Wi LIPSk
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(@) *Had 1

(b) e 1 3k 2

(c) hdd 3

@ 1,23M3
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2.
1. Spraying pesticides on a crop field
2. Inspecting the craters of active
volcanoes
3. Collecting breath samples from spouting
‘whales for DNA analysis
At the present level of technology, which of
the above activities can be successfully carried
out by using drones ?
(a) land2only
(b) 2 and 3 only
(¢) 1and3only
(d 1,2and3
HGY-P-JHKI (A

With reference to carbon nanotubes, consider
the following statements :

1.. They can be used as carriers of drugs

and antigens in the human body.

2. They can be made into artificial blood

capillaries for an injured part of human
body.

3. They can be used in biochemical

Sensors.
4. Carbon nanotubes are biodegradable.

Which of the statements given above are

correct ?

(a) 1and2only
(b) 2,3 and 4 oniy
(¢) 1,3 and4 only
d 1, 2; 3 and 4

Consider the following activities :

B)

«phe experiment will employ a trio of
spacecraft flying in formation in the shape of
an cquilateral triangle that has sides one
million kilometres long, with lasers shining

between the craft.” The experiment in
question refers to

(a) Voyager-2

(b) New Horizons

(¢) LISA Pathfinder

(d) Evolved LISA

Consider the following statements :

1. Genetic changes can be introduced in

the cells that produce eggs or sperms of
a prospective parent.

2. A person’s genome can be edited before
birth at the early embryonic stage.

3. Human induced pluripotent stem cells
can be injected into the embryo of a pig.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2 and 3 only

(¢) 2 only

(d 1,2and3

What  is © the importance of using

Pneumococcal Conjugate Vaccines in India ?

1. These vaccines are effective against
pneumonia as well as meningitis and
sepsis.

2, Dependence on antibiotics that are not

' effective against drug-resistant bacteria
can be reduced.

3. These vaccines have no side gff_ggts and

cause no allergic regctinns.

Select the correct answer using the code given
below :

(@) 1only

(b) 1 and 2 only
()  3only

(d 1,2and3
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wig #, “ofer A e’ (Public Key
Infrastructure) TeaY forush wom # W R
@ 7

(a) TETreet Feam SRR T

(b) T AT ST T

(e) W%@maﬂtﬁmméﬁm

(@) SR I TREE SRy T

frafataa ?ﬂﬁﬁﬁﬂﬁ?{-ﬁﬁm-ﬁuﬁ

R % i g A % R H adl @ ?

1. Wﬁﬁmaﬁﬁ%@aﬁaaﬁﬁmﬁqﬁm
@?ﬁ%wﬁ"mﬁiﬁmﬁﬁéﬁf
GGl PR

o, Uy iRl 0 wew g @i
@ﬂmﬁswﬁﬁqﬂammﬁmﬁﬁ
IeARE I

3qﬁmmaﬁﬁmﬁwgﬁwwﬂ
At & sl Wil iR # 0E B
@t e g |

1 fu T g 1 S R EE IR R -

(a) Hael 137 2

(b) Wzaﬁﬁal

(c) had 133

@ 1,233

10.

(4-B)

freferfan 3 & FHA PRV S TG
IC99 WA B ?
1.  @EIdd Eﬂ'&’:f (automobile) f:'m e
TErd
qAEETE h gaﬁ’

Q"IChSI EIRSNEL

2
3.

4 mmmm%mmm
5

. uifergfeds & ffifa Seargl 1 3w
i o 0 e 1 T R FE IR
(a) dd 1,233
(b) e 2 AR 4
(¢©) *hed 1,33 4
@ 1,238,435
af frere Wi § ggu dAftas faxdta @ al
2 @ frafafed § @ F9-8 FRAGE, TRa
F, Ged A AT % WY, FS IGR6
Yo T el 28 2
¥ ﬁ%sﬁawﬁmﬁ%ﬁ*—r@m

2. o IR feEh S 1 URW HET

3. doft @ # quf gt S ST W
Hi faw 1T e 1 T R HE I T
(a) ad 1

(b) Faw 137 2

() %ad 3

(d) 1,23 3

gfe 3T Y % F WA SHT @0 (Demand

Deposit Account) & ¥ 1,00,000 1 g TR

frrrerd 8, @ sreferawen § archics 9 A ol

@w@mmwmq@mv

(@ T B wwm qfd # T 1,00,000 K
st

(b) galﬁwrﬂ%fﬁ % 1,00,000 i 3G
—&ﬁ-lﬂ' :

(¢ Hgl 1 @mEm gfd § T 1,00,000 ¥ A
1 gfg arft

@) 9o T qfd smfafia wi
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In India, the term “Publje Key

: ; Infrastructure”
" is used in the context of

(a) Digital security infrastructure
(b) . Food security infrastructure

(¢) Health care and educatioﬁ
infrastructure

(d) Telecommunication and transportation

inﬁ'astructure

7. / Which of the following statements are correct

regarding the general difference between
' oL :
plant and animal cells ?

1. Plant cells have cellulose cell walls

whilst animal cells do not.

2. Plant cells’ do not have plasma

membrane unlike animal cells which do.

3. Mature plant cell has one large vacuole
whilst animal cell has many small

vacuoles.

Select the correct answer using the code given

Which of the following are the reasons/factors
for exposure to benzene pollution ?

1 Automobile exhaust

2.  Tobacco smoke

3.  Wood burning _

4.  Using varnished wooden furniture

5.  Using products made of polyurethane

Select the correct answer using the code given
below :

(a) 1,2and3only
(b) 2and4 only

(c)' 1,3 and 4 only
@ 1,2,3,4and5

If another global financial crisis happens in
the near future, which of the following
actions/policies are most likely to give some
immunity to India ?

1. Not depending on short-term foreign
borrowings v~

2. Opening up to more foreign banks

3.  Maintaining ~ full
~ convertibility

capital account

Select the correct answer using the code given
below : :

(@) lonly
(b) 1land2only <
() 3only

(d 1,2and3

below : 10. If you withdraw ¥ 1,00,000 in cash from your
Demand Deposit Account at your bank, the
(a) 1and 2 only immediate effect on aggregate money supply
' ~ in the economy will be
(b) 2and 3only (a) toreduce it by ¥ 1,00,000
b i i ¥ 1,00,000
© 1and3only (b)  to increase it by
(¢)  toincrease it by more than ¥ 1,00,000
(d 1,2and3 (d) toleave it unchanged
HGY-P-JHKI (52B)
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13.

HGY-P-JHKI '
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@ g i frd T el I T

) aaaammwﬁmﬁwﬁma
i wFgd

©) Wmﬁn@mﬁﬁﬁﬁﬂﬁww
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e Toh| T himd A2
1. u%waﬁwmmwﬁwmﬁ

9. HgHd hI Y

3. Y AfHRRI h FeAmeATH

A frw Ty e BT ST R HE I G ¢
(a) Faer 1311 2

(b) “had 23R 3

(¢) Fae 13 3

@ 1,23R3

Frefefa # @ b wron @ A ol
w@ﬁ%mﬁ:ﬁaaﬁr@?ﬁwm@nv

(a) ﬂﬂ%m%mﬁrﬁm%gﬁ[
FHTTahr 1 Y .

o) qﬁ@ﬁ%w%ﬁm‘ﬁm

TR BT

(c) Wﬁ@?ﬁﬁﬂaﬁﬂmaﬁm
fepan ST i

(1) IeEH H HH TR HI Fam

o

14. Wﬁwﬁ@é%&mwﬁ

15.

16.

 werqe fopa oW < oft 2

(a) B%Wﬁﬁﬁa‘réwmme,%
- Hw ¥ o o

(b) %wﬁwm%yﬁm?
- NI <hIHl =ladl g1 .

(0 T8 faferm F wa 3a% T 5
ﬁwwmmm _

(@) 98 fafewr amienl =1 wma & e
qﬁ‘ﬁ‘aammm

v % s ¥ wod 4, “Saren”
e 3vgd Frefied § @ Brd He 1 Raw
or 2 -

(a) 1857 % fagig 1

(b) 1921 % Hifter fogE 1

(© 185960 % Fier Fagig F

@ 1899 — 1900 % fewar ge1 fagie 1

g wra % fagRimeeen. % d@ed 1,
fr=fafaa wom1 T fEm i ; .

y fof et g @ g 2

+B)

9. amiig giaYd & wEfE © |

3. ifcred =% TH - _11 & Gt R |
mﬁaﬁmi}ﬁaﬂ'—lwéaﬁ%/%?
(a) %?a'c"Tl\'ﬂﬂ'{z

(b) Fad 233

(¢) ad 3
@ 1,233
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4

below :
(a@) 1and2only
(b) 2and 3 only
(¢) 1and 3 only
(d 1,2and3
13. Indigo cultivation in India declined by the
beginning of the 20t century because of
(a) peasant resistance to the oppressive
conduct of planters
(b) its unprofitability in the world market
because of new inventions
(¢) national leaders’ opposition to the
cultivation of indigo
(d) Government control over the planters
y I
HGY-P-JHKI (

‘With reference to the éilltu‘rﬁl history of India |

which one of the following is the correct

descE_pti_on_ of the term ‘paramitag’ 9

(a) The earliest Dharmashastra texts
written in aphoristic (sutra) style

(b)  Philosophical schools that did not aﬁcept

the authorit.,y of Vedas »
(@

Perfections whose attainmént led to tﬁe
Bodhisattva path L

(d) Powerful merchant guilds of early

medieval South India

In the context of Indian history, the
Rakhmabai case of 1884 revolved around

1. women’s right to gain education
2.  age of consent
3.  restitution of conjugal rights

Select the correct answer using the code given

14"

B)

Wellesley established the Fort William

College at Calcutta because

(a) he was asked by the Board of Directors
at London to do so

(b) he wanted to revive interest in oriental
learning in India

(c) he wanted to provide William Carey and
his associates with employment

(d) he wanted to train British civilians for

administrative purpose in India

With reference to the history of India,
“Ulgulan” or the Great Tumult is the

description of which of the following events ?

(a) The Revolt of 1857

(b) The Mappila Rebellion of 1921

(¢) The Indigo Revolt of 1859 — 60

(d) Birsa Munda’s Revolt of 1899 - 1900

With reference to the scholars/litterateurs of

ancient India, consider the following

statements :

1.  Panini is associated with Pushyamitra
Shunga. ‘

9.  Amarasimha is associated with
Harshavardhana.

3. Kalidasa is associated with Chandra
Gupta - II.
Which of the statements given above is/are

correct ?

(a) 1andZ2only

(b) 2and3only
(¢) 3only
(d) 1,2and3
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18.

HGY-P-JHKI

“qrahich AT (Pronuclear Transfer)
7 vt forg R B @ 2

T I ’

o G TE A A AR
E e INCR IR

(c) T (Stem) I 1 e qo A
fowm '

d Wﬁwﬁma@ﬁﬁwﬁﬂﬂ

e H odam R 6, FhW g

(Artificial Intelligence), frfafga & & T8 |

i T T A H GHA 8 ?

1. ahefie geEal |
T

2, aﬁ%ﬁgwﬁﬁaﬁvﬁﬁaﬁrm
3. 2t w1 e |

foreq & @U@ A

o4 R AN (Text-to-Speec;h)ﬁ PIREGE]

5. forg Sl T ST HR
ﬁﬁqm@mmw@w—gﬁq;
(a) Fa 1,2, 35

(b) Hae 1,8 3R 4

(©) Fad 2,435

@ 1,23 43M5

19.

20.

(8-8)

v S H (Wq)aﬁzﬁ%ﬁﬁﬁ
Frffia 3 & -8 T T R 2 '

. 1, VLC, 375 & 780 nm EI] ﬁmm

Gt el ST A R
3 S e 2 |

3 wow@wﬁwﬁ%aﬁﬁm%

) arfer ASft B ST FTRAR |
4. mcﬁ,ﬁgﬂ-ﬁm@qwﬁ@m,

(a) e 1,237 3
(b) Had 1,230 4
(¢) Had 1,33 4
@) Fad 2,33 4

i A % e, freen o

L 7 UH aee @ g R w®
friem o T B, g o #iE f &

IqviRT e =&l L |
0. et 1 T AN arfrey R R
ol TE el e e &
S qR
3. iR % o f W A
S 1 fm et s 1 IS
it fopa ST aepat @ |
Iudad wul # A FA-AVA T AR ?
(a) had 1
(b) <hae 1 3R 2
() wHIdA2
© (d) hae 1 3R 3
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17. * In the contéxt of recent advances i T

reproductive technology, “Pronuclear
Transfer” is used for

(a) fertilization of egg in vitro by the donor
sperm :

(b)  genetic modification of sperm Producing
cells .

(c) development of

stem cells

into
functional embryos

(d) prevention of mitochondria] diseases in

offspring

(¥

18. With the present state of development,

HGY-P-JHKI (9-

Artificial Intelligence can eﬁ'ectwely do which
of the following ?

1.  Bring down electricity consumption in

mdustnal units

2. Create meaningful short stories and
songs

3.  Disease diagnosis

4. Text-to-Speech Conversi.on

of electrical

5. . Wireless ‘transmission

energy

Select the correct answer using the code given

below :

(a) 1,2 3and5 only K.
(b) i, 3 and 4 only

) 2 4and 5 only\;;

@ 1,2,3,4and5

e ——

19.

s

B)

With

reference to Visible Light
Communication (VLC) technology, which of
the following statements are correct ?

1. VLC wuses electromagnetic spectrum

wavelengths 375 to 780 nm.

2. VLC is known as long-range optical
wireless communication.

3. - VLC can transmit large amoﬁnts of data
faster than Bluetooth.

4. VLC has
interference.

no electromagnetic

Select the correct answer using the code given
below :

(a) 1,2and3only

(b): 1,2and4only \

(¢) 1,3 and4only
(d) 2,3and4only

With reference to “Blockchain Technology”
consider the following statements :

1. It is a public ledger that everyone can
inspect, but which no single user
controls,

9. - 'The structure and design of blockchain

is such that all the data in it are about
cryptocurrency only.

3.  Applications that depend on basic

features of blockchain can be developed
* without anybody’s permission.

Which of the statements given above is/are
correct ? :

~(a)  1lonly

(b) 1and?2 onl)@(.

() 2only L
(d) 1and3only
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W dE F Wi e e W A A

wfufifoe & 8

(b) R FEe ¥ R T g R
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23. Trefefiga el W famm il :
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o WTE 1 HEaUH, ANIER Sl WA qor
39 et o W Gfeum snuii@ g,
gw%@ﬁﬁﬁwﬁﬁﬂ"ﬁw

FT 2 | |
JuEa HeAl § A HH-EVE HE R 7
(a) el
(b) <had 2
() 13T 23
(@ Fd1,T82

HGY-P-JHKI

aTE ¥ TrEE S ST I HATHE T

26.

(10-B)

24,

25.

Tivfarg oft wredare F ff9 UF 9O weEwfy
g STt B | 78 el d @ e R o

(a) TH AfqH TF 6 &9 H TA(TEH T
(b) < Tud

(© ol wufa 6 wefw

@ eonfi Fafer

e ¥ e #, A @ Pt § 3
-1 I =E- R 2

(@) GO @iwdd @l g1y @i faer g g

N

(© TeHfs v 3t onfes afg =t
gAY T ATl AR

@ W% A B FEifEE wE o aw

SfERTT

T 3 a6 SR

(a) aﬁmwm%%ﬂﬁﬁﬁﬁm
2t TEd

(e T R SR e

oft 7 Tt

ifyer 1w 2 3iR da & fafs
Tt 2 S i IEeR HIE I

@ afe @ @ feg 3w I i

(c)
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91. A Parliamentary System of Governmeny js | 24
one in which

(@) all political parties in the Parlinment
are represented in the Government

(b) the .Guvernnwnt 18 responsible o the
Parliament and can be remgyeq by it

(¢) the Government is elected by the people
and can be removed by them

(d the 'Govemment is chosen by the
Parliament but cannot be removed by it
before completion of a fixed term 25.

22. Which part of the Constitution of India
declares the ideal of Welfare State‘?

(a) Directive Principles of State Policy

(b) Fundamental Rights |

(¢) Preamble

(d) Seventh Schedule

23. Consider the following statements :

1. The Constitution of India defines its
‘basic structure’ in terms of federalism,
secularism, fundamental rights and
democracy.

2. The Constitution of India provides for 26.
Yudicial review’ to safeguard the
citizens’ liberties and to preserve the
ideals on which the Constitution is
based.

Which of the statements given above is/are

correct ?

(a) 1only

(b)  2only

() Bothland?2 .

(d)  Neither 1 nor 2

HGY-P-JHK| (11-B)

One common agreement between Gandhism

and Marxism is

(n) the final goal of a stateless society A

(b) class struggley/
(¢) abolition of private property o/

(d) economic determinism

In the context of India, which one of the
following is the characteristic appropriate for

bureaucracy ?

(a)

An agency for widening the scope of

parliamentary democracy

(b) An agency for strengthening the

gtructure of federalism

(¢) An agency for facilitating political

stability and economic growth

(d) An agency for the implementation of

public policy

The Preamble to the Constitution of India is

(a) a part of the Constitution but has no

legal effect

(b) not a part of the Constitution and has
no legal effect either )L

() a part of the Constitution and has the

same legal effect as any other part

(d) a part of the Constitution but has no

legal effect independently of other parts
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28.

HGY-P-JHKI

(a) Toma s 6t 70 Rl
b = 3 6 el o B B

(© WTO g Ta% wewl # you Th 4
ol

@ IMF g 56% we@l @1 ved T 9 |-

Tt <t

T ¥ GRee & wm v i siafde gauE

éaﬁﬁ,ﬁm%%amﬁﬁﬁﬂq-wéﬂ‘@

R ? -

1. %_mmﬁﬁmnaﬁfﬁﬂﬁﬁl'

2. a%Eﬁ%ﬂquﬁ:ﬁﬂﬁﬁﬁl

3. =@ wm i aAfmha g w1 % g0
HHF SR B AwIfd B |

9 fw 7T F 61 TN FFE I G ;

(a) Had 1

(b) had 2
(¢) had 133

(d) et 230K 3

29. f=fefaq wudi w fmm it .

1. ﬂm%.ﬁﬁﬂﬁ%m,@ggﬂ
?ﬁﬁﬁﬁw%mwaﬁmg.
ﬁ%%%ﬁﬁﬁmmmgm
0 @ 6 9% 38 757 % Rumey
T TE R |

2. % wfafifies sififem, 1951 % 3Em
w1 off Y @ 9 oRE g
- A St T R sl Rl ol o
% ¢ FrEm 1 ge o w2, g
et % fore Tt d w fda &
ol € 98 FREE & 0 8 G |

Ied oAl § ¥ A T R 2
(a) hae 1 |

(b) ohad 2

© 13 23H

@ TALTIE2

30. Frefafiag sl W fo=m Hifw

1. YRd & UgYld 1@ T W T 9w 3w
quy, HEE H W ARG (3MEH) W
Tehel B | |

0. WA 1 GRYE TE a9 § w6 F i @i
1 S T 2, Teg wft R Wi
< T Sad TE 2 |

5w s Rl B = wen fei
T & T g 1 T A T |

s el 8 @ A AR 0

(a) ohad 1

(b) e 2

(c) Fae 1971 3

(d) e 23 3

(12-B)
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g7, “Gold Tranche” (Reserve Tranche) reforg {, 29

@) " aloan system of the World Ban
() one of the operationg of a Centra] Bank

(¢ a credit system granted by WrQ ‘to its

members

(d) a credit system granted By IMF to its

members

98. With reference to the provisions contained in
Part IV of the Constitution of India, which of

the following statements is/are correct ?
1. They shall be enforceable by courts. | 30-

2. They shall not be enforceable by any

court.

3. The principles laid down in this part are
to influence the making of laws by the

State.

Select the correct answer using the code given

below :
(a)  1only
(b) 2 only

() 1and 3 only

(d)  2and 3 only
HGY-P-JHK| (13-B)

Consider the following statements :

1

According to the Constitution of India, a
person who is eligible to vote can be
made a minister in a State for six
months even if he/she is not a member
of the Legislature of that State.

According to the Representation of
People Act, 1951, a person convicted of a
criminal offence and sentenced to
imprisonment for five years is
permanently  disqualified from
contesting an election even after his
release from prison.

Which of the statements given above is/are

correct ?

(a) 1only
(b) 2only |
() Bothlamd2

(d)

Neither 1 nor 2

Consider the following statements :

L

The Pres_ident of India can summon a
session of the Parliament at such place

‘as he/she thinks fit.

The Constitution of India provides for

three sessions of the Parliament in a

year, but it is not mandatory to conduct
all three sessions.

There is no minimum number of days

that the Parliament is required to meet
in a year. '

Which of the statements given above is/are ‘

correct ?

(a) 1only

(b)  2onlyK

() 1and 3only
(d) 2and 3 only 7
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31.

32.

" HGY-P-JHKI

Frfefag Fom W e AT .

L i R & e wR R il
wnfRa 7€ @ S HHA 2 |
9. Tsg fsft Frmat (Corporations) ¥ ‘anur’

37 B T FW R B ey TE
T |

3. ‘ouR W IRl W WW W %
e g1

4. ‘omui W i afaa B ¥ Raemr ww
w0 % o srfam & |
IRfE Sl ¥ R g R 2

(a) A 13 4

(b) %ﬁﬁéaﬁu

(©) ad 3

i Bam gl , |

TSI GHT S A W1 % AW Vel R &
TE? | ‘

(a) 7§ wiflge st FaTd fed w & faw
ﬁ A

(b) Hiau™ ¥ Gy w5 99y |
(c) TTHN ! &H & fawg

(d) T TEdTE Teqd A F e F

33,

34,

35.

(14-B)

quE gger i &7 fas A9 (MPLAD)
¥ arafa fified & wedd ¥, Fefofaa sy
B P Tl # 2

1. MpLADS Fifunt fers afwmfmi 3
e, fugn, snfe 6 Aifes s
Trerrell 3 Fmior § € ugeE 8 Tt § |

9. yorF wiae @ ff &1 & Ffem ey
e Sfd/SATG SHEE % A
T E1 STAH 8 |

3. MPLADS Fiftrl arffe smam w wiga
1 9Tt £ o srwge fy @ o ad &
- forq amrfa &l foha ST EehdT |

4 FEifEd @ @ wff FEl d F Fnaew
10% o1 fer st g afa ad
e srfaar 2 |

Hi fow ¢ e 1 A H TG I A
(a) ohaet 13 2 '

(b) hee 3 3T 4

(c) %ae 1,23 3

(d) et 1,234

frfafed qo siftreerd & fore Tt § sregeaan

- % w7 ¥ fory et & faeg wew gfae

27
(a) W0 % faeg srfeR

 (b) G HT RN

(¢) Hifauntaes ITER 1 iR
(d). T 1 AfHR

YRE H, AT 1 HRUTITR] H YR,
ool = § 2

(a) @eas i sehe g

b) T A % ey o= g

(c) WIdl Y= gRI

(d) ORI STEET g
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/ ConSlder the following statementg .

1, Aadhaar metadata Cannut be stored for

- more than three months.

2. State cannot enter int contract
with private corporations for shaﬁng of

Aadhaar data,

3. Aadhaar is mandatory for obtaining

insurance products.

4. Aadhaar is mandatory for getting
benefits funded out of the Consohdated
Fund of India.

Which of the statements given above is/are

correct ?
(a) 1land4 only

(b) - 2and 4 only

33.

With reference to the funds under Members of
Parliament Local Area Development Scheme
(MPLADS), which of the following statements

are correct ? '
1. MPLADS funds must be used to create

durable assets like physical
infrastructure for health, education, ete.

2. A specified portion of each MP’s fund
- must benefit SC/ST populations.

3. MPLADS funds are sanctioned on
yearly basis and the unused funds
cannot be carried forward to the next
year. '

4. The district authority must inspect at
least 10% of all works under
implementation every year.

Select the correct answer using the code given
below :

(a) 1and2only
(b) 3and4only &
(¢) 1,2and 3 only

© 3Sonly L (d 1,2 and 4 only
| 34. Which one of the following categories of
(d) 1,2and 3 onlyr Fundamental Rights incorporates protection
against untouchability as a form of
discrimination ?
(a) Right against Exploitation
3. Rajya Sabha has equal powers with Lok (b)  Right to Freedom
Sabha in (c)  Right to Constitutional Remedies
. ) (d) Right to Equality
(a) the matter of creating new All India
Services 35. In India, separation of judiciary from the
executive is enjoined by
(b)  amending the Constitution (a)  the Preamble of the Constitution <
- . (b)  a Directive Principle of State Policy
¢) the 1 of the governmen
R AR (c)  the Seventh Schedule {
(d  making cut motions (d) the conventional practice
— — e —
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37.

38.

HGY-P-JHKI

e w M v w0 Y Rad ey sifde

wEr e (The [Beonomic

Framoework Statement)’ 8 ufmfer @ 1 3

v Yl word e QIR o W

W% : :

@ e gudy wwu & S

(b) WRd & HRYW & FEIE 112 @
FTET 110(1) F HRT

(¢) WA AU % TR 118 % RO

@ TR Sl W@ SR WeRd
e, 2003 % gEYRl & SR

Macero

TR |, Tt TR w5 ot R
(@ foum vsa g R

(b) THT THR

(c) VT FThT

@) Hif TR

T SRR & Afdis, WRd & HT%FHT—I &l
Freafafea & 8 sF-a@ wm wre sfteert S
Qa9 1948 (Universal Declaration of
Human Rights 1948) % frg@l @ ‘;rﬁum‘r Bl
fafafea s 378 2

1. S

2. TSy & g & ey aw

3. WA Haed

= fow T e oA R Ed S g

(a) ad 137 2

(b) Hhad 2
(c) hadl 131 3

(d) 1,23Mm3

9. i i, R da EE A AR ity

40.

(16-B)

(Logal Services Authorities), freferfag LR
ﬁmmm%r:rmhﬁfﬁﬁwﬁrt‘wm
Y T & 7

1. % 1,00,000 & 7 afde AW TR oy
&

9. T 2,00,000 Y HA FIMH T dTA ZRTey
£l

3, ¥ 300,000 % H aAME I A I

fiee @t (OBC) & He& &l
4, ot i A
1= fw 7T e 1 T W TE IW A
(a) had 137 2
(b) oot 3 3R 4
(¢) <hadl 23 3
(d) aa?—rlaﬂu
TR Tt T R B
ST fava
GHSAT | G
1. ITCHI-3E UINUT — @ & waTeey &
@I
2. & EHEaT - ﬁﬁ%ﬁ@rmﬁm
3. ARG HaE aﬁaawaaag
| giEds
4'ﬁ3u1mémw — T AfER
Wﬁﬁaﬁqm@@qaﬁgﬁ%ﬂmo
(a) ohael 13N 2
(b) et 4
() Pad 133

(@) et 2, 330K 4
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3.

3T

@l 1and 2only
(b)  2only
(¢} 1and 3 only
d) 1,2and3
HGY-P-JHK| e

Along with the Budget, the Pbbisiiie Js
parliament which incluge “The

] Macro
Economic  Framework Statemeng’

4 d ; ‘The
aforesal ocument is Presented } use this
;s mandated by
Long
convention

(a) standing Parliamentary

(b) Article 112 and Article 110(1) of the

Constitution of India

(c)
(d)

Article 113 of the Constitution of India

Provisions of the Fiscal Responsibility
and Budget Management Act, 2003

A constitutional government by definition is a

(a) government by legislature

(b)  popular government 2

(¢) multi-party government ¢

(d) limited government

Other than the Fundamental Rights, which of
the following parts of the Constitution of
India reflect/reflects the
provisions of the Universal Declaration of
Human Rights (1948) ?
sl

4

Directive Principles of State Policy

principles and

el

Preamble

[ 5]

3.  Fundamental Duties

Select the correct answer using the code given
below :

E?

40.

B)

In India, Legal Services Authorities provide
free legal services to which of the following
type of citizens ?

1. Person with an annual income of less
than ¥ 1,00,000 £

- 2. Transgender with an annual income of

less than ¥ 2,00,000

3. Member of Other Backward Classes

(OBC) with an annual income of less
than ¥ 3,00,000

4. All Senior Citizens

Select the correct answer using the code given
below :

(a) 1and 2 onlxl
(b) 3 and4only
(c) 2and3only
(d) 1and4only A

Consider the following pairs :

International Subject
agreement/set-up

1.  Alma-Ata — Healthcare of
Declaration the people

2. Hague — Biological and
Convention chemical

weapons

3. Talanoa — Global climate
Dialogue change

4.  Under2 Coalition — Child rights

Which of the pairs given above is/are correctly
matched ?

(a) 1and2only
(b) 4 only

(e) 1land3only
(d) 2,3 and4only
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41. W%ﬁﬁmkmﬁﬁ ﬁmﬁﬁmﬂ‘iw

42,

HGY-P-JHKI

feram A -

{ alr —  uwEy

o, Wam  — S g FHE H
ey e

5, firofren — T 1 AR OO T

vl gl 3 A WA ) gaf ¥/ ¢
() ae 130 2

(h) oheret 2 3ii 3

(¢) a3

) 1,230 3

i % uififs gfem & ded o, Frefelea

et wt freng <hifsi

(o wpferand) wgr g od @ weg |

9, “lepraEd Gy sty ud % wgEiee
s W e gt o) |

g, werdfenl gre T % AacEdovr A wEEE
il ud ey dvenife fomar |

gufiret el A - ad) W
() el 180 2
() Aae 2 303

(¢) el )

(W) 1,230 8

4a'ﬁmf%fftaaﬁaamwmmwm'

44.

45.

(18-B)

(a) 2-1-4-3
(b)) 3-1-4-2
() 2-4-1-3
(d 3-4-1-2

g el i) 3 g TR gy
&) GEt =arE R ?

() mﬁﬁﬂaﬁﬂﬁmwﬁmal
(b) TG ok s i T B A de

e BT T |
(© % o e A E e g
off | _
() Ffew FeaTe % AT T AR e Ty
T | o
Wi % s # frafifea wee wfEg
HIfT ;
1 e W 3 arefie widerd 1 I
9. HgaH — 1% e Ugd Gl T
3. QU= — [ G Sl G hl TG
4, TIITET G OISl USIarsT <hl ST
YR Tl 1, ITEfA e & AW L, T
HIATIH 1 8 ?

Frefafad 4 @ SR-m Swae, IaEd-FeH

|l oy 3fgfea 8 % www fit gfam

Fa@IR ? |

(a) TeM g 3R erflee Wt fem
qmyl

b RRE #= e siffd wA aw
EGl

() Tafma

() gme g ot Il ) femr
3T
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I with reference {0 the Hiikory o1
// congider the

1, Aurang

Indin,
following pairy .

lll-ullurgu of

treanury
of tho State

9. Banian Indian agont of (he Bant,

Indin Company

3. Mirasidar —  Designated revenue

payer to the State

Which of the pairs given above ig/are correctly
matched ?

(a) 1and 2 only
(b) 2and 3 only
(¢) 3only

@ 1,2and3

42, With reference to the religious history of

India, consider the following statements :

1.  Sthaviravadins belong to Mahayana
Buddhism,

2, Lokottaravadin sect was an offshoot of
Mahasanghika sect of Buddhism.

3. The deification of Buddha by
Mahasanghikas,fostered the Mahayana
Buddhism. -/ _

Which of the statements given above is/are

correct ?

(@)  1and 2only

(b) 2 and 3 only

(¢)  3only

(d) 1,2 and 3

]
S
/5

4

@
Which of the following statements corredly
explaing the impuct of Industrial Hevolution

on Indig during the first  hall of {he
nineteenth century ?

43,

(n) Indian handicrafts were ruined,

(h)  Mauchines were introduced in the Indian
textile industry in large numbers, L

(¢) Railway lines were laid in many parts of
the country. |

(d) Heavy duties were impozed on the

imports of British manufactures. L

India :

VCOnsider the following events in the history of

1.  Rise of Pratiharas under King Bhoja

2.  Establishment of Pallava power under
Mahendravarman - [ :Hﬁ

3. Establishment of Chola power by
Parantaka - I . g’ L

4.  Pala dynasty founded by Gopala

What is the correct chronological order of the
above events, starting from the earliest time ?

(a) 2-1-4-3
(b) 3-1-4-2
(c) 2-4-1-3
(d 3-4-1-2
457 Which of the following phrases defines the

7

nature of the ‘Hundi’ generally referred to in
the sources of the post-Harsha period ?

(a) An advisory issued by the king to his
subordinates

(b) A diary to be maintained for daily
accounts

(e) A bill of exchange

(d) An order from the feudal lord to his

subordinates

(19-B)
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(6, o wm % e el R we

417.

HGY-P-JHKI

9 | <0 T T WA Jahg ARH A

@ 1,233

(e)

i dee B e G For” F T 5,

ﬁm%mmﬁmﬁwaﬁﬁqz ‘

1w I A tRfes 19 gr AfEdsh
1 gt faom % fordg § =arert 4 |

it = S e |
3. ATEH0 R 2 Weg 1 A, A &
- fafdre gee o fomam T O |
IRfd oAl § & - EEE 2
(a) %ﬁaiaﬂtz
(b) haw 23R 3
(© arcmmﬂta’

defiadn wmhy § ferRe § ¥ W=

e A 2 |

L Tde duw HkE oA % fe s
A el '

2. mm%@ﬁﬁﬂ%ﬁw

3, gl%mﬁﬂrﬁ%ﬁﬁmasﬁ%gmﬁﬁﬁ

g A gl

s aw o Hedl A ferg & w e
arfdrm & o

F e T e H T R e IH AT :

(a) had 1

(b) ;%a_lal,23ﬁt4

Fad 3

Fad 2,3 3 4

(d)

48,

49.

t 50.

(20-B)

()

mwﬁsﬁﬂﬁaﬁaﬁﬁw’mm
afr e fegae rass g eI i T
off 9

s & e % ol g @
“Grore” w1z 1 e @ E 2

(a) AT

®) ﬁﬁ?ﬁtﬁﬁ%@a‘ﬁ

(c) TR i YH 1 A

(@) wIfHe M

freafrfaa 3 & 5w wEs 3 Il TS A
srfirerg 3 e & T foa 2

“wf st wfe W e HWEE W
TRmifed w0 6 g ¥ T i HveE
1 s O 2 A A T I S
ufF 3 wr o TugEt H Fie w2, 9
g e Gye H R w9 § @ TEe

.%I”

(a)
(b)

(d)

T —————
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HGY-P-yHK

with reference to the book “Deghep Katha”
written by Sakharam Ganesh Deuskar during
the freedom struggle, consider the following
,:m{onwnts -

1. It warned against the Colonial State’s

hypnotic conquest of the ming. -

9. It inspired the performance of gy
street plays and folk songs. ./

adeshi

3. The use of ‘desh’ by Deuskar was in the
specific context of the region of Bengal.

Which of the statements given above are
Cgrfect ?

(a0 land2only
(b) 2and 3 only
(¢/ 1and 3 only
(d 1,2and3

47, » The Gandhi-Irwin Pact included which of the
following ?

1. Invitation to Congress to participate in
the Round Table Conference

48.

7

2. Withdrawal of Ordinances promulgated 50.
in connection with the Civil
Disobedience Movement

3. Acceptance of Gandhiji’s suggéstidn for
enquiry into police excesses '

4.  Release of only those prisoners who
were not charged with violence &

Select the correct answer using the code given

below :

(@) 1only _

(b) 1,2and4 only J_,

(¢)  3only

@) 2,3and4only 3,
(21-B)

The Vital-Vidhvansak, the first monthly
journal to have the untouchable people as its

target nudience was published by

(n) Gopal Baba Walangkar

(b) Jyotiba Phule
(¢) Mohandas Karamchand Gandhi
(d) Bhimrao Ramji Ambedkar

With reference to the history of India, the

terms “kulyavapa” and “dronavapa” denote

measurement of land

(a)

(b) coins of different monetary value

classification of urban land

(c)

(d)

religious rituals

Who among the following rulers advised his
subjects through this inscription ?

“Whosoever praises his religious sect or
blames other sects out of excessive devotion to
his own sect, with the view of glorifying his

own sect, he rather injures his own sect very

severely.”

(a)  Ashoka

(b)  Samudragupta

(¢)  Harshavardhana
(d) Krishnadeva Raya
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51. @ﬁﬁﬁﬁ‘m(femgatmm%WWﬁ? 53, WEWTR oftgd  @H  (Ocean  Meg
N TemperaturefOMT)%Wﬁ ﬁm%ﬁ@aﬁﬁ
1 g i oY e 1 Ferw EvE © R T
2 T ek ST o ek S 1. OMT 260%?1‘@1@‘1'&?@@;
| wm%ﬁamﬂﬁwﬁl mw%ﬁﬁmﬁﬂﬁﬁf@
?ﬂrmﬁl ] s .
Ny ra ' . OMT, 3 SHati - LCaER| Kl
ﬁ%ﬁqm@mmwaﬁwﬁ: S TedT 2 T wEER # 9§t oA w
ﬁ%ﬂﬁdﬁr@ﬁ?aﬂmaﬁ@wﬁrﬁm
(a) ae 1,2 3R 3 R |
(b) ohad 1,2 3K 4 = fom T e 1 AT R |G IH T
_ (a) ad 1
(0 e 1,3 3 4 o S
(d) Haw 2,33 4 (@) 1322t
@ T 1,782
o 54, Wi & TErRE i@ & e #, Pt
52, Trefefad wiel w faemm $ifsg | Fer W S i
1. SoEEe 1. SHE § THEfs 39 B gl 0w
2. BEEE TR
3. AR 2. IR S gREr sAR H %W A 7, 98
L R | TTHfes T | I Far 2 |
: © 3. UEHL, S PBIORING WA IATh & (o
i #, I W ¥ HHE-AY/A nfieies w1 Y FE WS R, 9% I WET FR@E
T 9@ @ (major minerals) #/F 2 SireTE R ) "
(a) et 130 2 TR ORI A HEAE T R ?
(b) Had 4 (a) e 1
o S (b) <had 23N 3
(¢) had 2
((_D W?’Sm‘i (d 1,233
HGY-P-JHKI (P2
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5 What are the ndvantnges of fm‘tiﬁnti(}u in | 53,
- agriculture ?

1. Controlling the alkalinity of irrigation
water is possible,

9.  Efficient application of Rocl Phosphate
and all other phosphatic fertilizers is
possible.

—

3. Increased availability of nutrients to
plants is possible.

4. Reduction in the leaching of chemical
nutrients is possible.

s ———

Select the correct answer using the code given

below :

(@ 1,2 and 3 only

(b) 1,2 and 4 only

() 1,3 and 4 only

(d) 2,3 and 4 only

54.
52/Consider the following minerals :

1.  Bentonite

2. Chromite

3. Kyanite

4. Sillimanite

In India, which of the above is/are officially

designated as major minerals ?

(@) 1and 2 only

(b) 4 only

© 1 and 3 only

(@ 2,3 and 4 only
HGY-P K| (23-8B)

With reference to Ocean Mean Temperature
(OMT), which of the following statements
is/are correct ?

1. OMT is measured up to a depth of 26°C
isotherm which is 129 meters in the
south-western Indian Ocean during
January — March,

2. OMT collected during January — March
can be used in assessing whether the
amount of rainfall in monsoon will be
less or more than a certain long-term

mearn.

Select the correct answer using the code given

below :

(@) 1lonly

(b) 2 only

(¢) Both1land?2
(d)

Nezther 1 nor 2

With reference to chemical fertilizers in India,

consider the following statements :

1. At present, the retail price of chemical
fertilizers is market-driven and not
administered by the Government.

2. Ammonia, which is an input of urea, is
produced from natural gas.

3. Sulphur, which is a raw material for
phosphoric  acid  fertilizer, is a
by-product of oil refineries.

Which of the statements given above is/are
correct ?

(a) 1 only.

(b) 2 and 3 only
()  2only

(d)

1,2and 3
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55, W % T U< sER ¥ wed #, At

56.

HGY-P-JHKI

Y I T TR R ?

1. %o foedi ¥ fora ®

9. IUM F <L HE HFE 919 T T8l © |

3. W e ifew s & wrpeeh ST A
ATHR

ﬁ%ﬁmfmqgimuﬁﬂaﬂﬂﬁﬁmtgﬁq:'I
@ %malaﬁz-
(b) <hael 237N 3
© %maldhé

@ 1,233

feranfert ferme el @ & 2

(o) s B O A

(b) WEHEHA
(c) firefie & s A

(d) 50 O % IWH

(24-B)

58,

9. CGWA w1 fmin ‘gaieru

57. WA ¥ shEw ¥ ey #, Fefled 3o

g T gAq T
1. i — AW
2. gREHR W — TR
3. fifgPm — ToH@
L O — SR
I 7 & -8 g e At § 2
(m,%ﬁalsﬁs
(b) et 13T 4
(c) had 23 3
(d) had 2 37 4
fffa ol w fomm i

1. g i S W (CGWA) 4 HRd
% 36% fyar ow  “efnfvd
(overexploited) 3TordT “éﬁ'-_{q;?f?, (critical)

- fiepa foRem gam 7 |
(wreeor)
- SrfifaEd % 3FTd g |

3. fova ¥ yoiw e & errfa wed T
@Ayl

S e R AR Y

(a) ad 1
(b) had 23R 3
() ad 2
() Had 137 3
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b6,

HGY-P-JHK|

with reforence to Indin'n Doy Nutional

. ' il
Park, which of the following slatomonty o
correct ?
1. Ibis gpread over two districty,
2. There is no human habitation inside the
Park, %
3. Ttis one of the natura) habitats of Great,
Indian Bustard,
Select the correct answer using the code given
helow :
(a) 1and 2 only L
(b) 2and3only & 58.
(¢) 1and 3 only
(d) 1,2and3 ~
Siachen Glacier is situated to the
(a)  East of Aksai Chin a
(b)  East of Leh
(¢)  North of Gilgit {_
(d)  North of Nubra Valley L
(26-B)

3. India has

With referonce to the history of

consider the following pairs :

India,

Famous Pluce Present State

1. DBhilsa —  Madhya Pradesh
2. Dwarasamudra — Maharashtra &
3.  Girinagar —  Gujarat |
4,  Sthanesvara — Uttar Pradesh

Which of the pairs given above are correctly
matched ?

(a) 1and 3only
(b) 1and4only
(¢) 2and3only |

(d 2and4only \

Consider the following statements :

1. 36% of India’s districts are classified as
“overexploited” or
Central
(CGWA).

“critical” by - the

Ground Water Authority
2, CGWA under

Envirorment (Protection) Act.

was  formed

the

the

groundwater irrigation in the world.

largest area under
a—

Which of the statements given above is/are
correct ?

(a) 1only
(b) 2and 3 only
() 2only

(d) 1 and3only
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59. frefifed weAt w Rar iR .

L % var ¥ o) ted 4 W
1 8

2, HIQ FS THAW © hy W A I
FW 2 |

3. THhaAM H TNy % ITGL I AIHM
SEYH % TUEE & T 10°C HH &Il

?
ST FORL A Y SR W R 2
| (a) a1
(b) Ha 23N 3
© %2

(d) Faa 13T 3

60. Frfufiga s omfdd &t & “wifeen s
A (Critical Tiger Habitat) * BW"TT'[’HEI'@I
5o 9 e U R 2
(a) e
(b) VOl
(¢) FrmeETR-AEeH

(d) HeEH

HGY-P-JHKI

| 62,

(26-B)

61,

63.

afy it e <61 Refire if Y S
s, 1972 0 STRER VI @ T R 5
! A 8 7

@ 39 9 6 Th FA F o ey |
HEATIHA 8 |

(b) & Y et el off ot d gy
T |

() 9§ Teh ATATha: TR Foel! 17 3 |

(d) TGT T ABHEAF BT B MR UiET 3

T i & 2 |

TR Wi e ToEw % @ % geof #, A
HerRITe, ey T et e forg fereara o 2
(a) e =R = T SeTE

(b) wifcheret =gt B TSEtET

(© mmwwwﬁw&a
T '

@ g i % e deferm

q;ﬁi | QEH@H‘I’Q‘ (zero-tillage) /& T TH

;. '

1 ﬁa&ﬁwaésmﬁrﬁaﬁmﬁmﬁi
) FIE 9T R |

5. A H A Ny A T w fo, o
% sfisi o1 T g H Y Juor EwE R |

3. e H HE QR W § |

H few o e 1 SR S HE I G :

(a) ohad 137 2

(b) A 23 3

(¢) had 3

@ 1,233
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59 Consider the following Statementg .

1. Jet streams occur jp the Northem
Hemisphere only, A

2. Only some cyclopes develop an eye.

3. The temperature inside the eye of a°

cyclone is nearly 10°0 lesser thap that
of the surroundings,

Which of the statements given abgye is/are

correct ?

(@ Zlomly &
(b) 2 and3 only
(¢ 2only

(d) 1and 3 only ]-/

60. Among the following Tiger Reserves, which

one has the largest area under “Critical Tiger

Habitat” ?

(a)  Corbett

(b)

Ranthambure

(c)

Nagarjunsagar-Srisailam

(d)

Sunderbkans

HGY-P- gk

(97 -

61. If a particular plant species is placed under

Schedule VI of The Wildlife Protection Act,
1972, what is the implication ?

(@) A licence is required to cultivate. that

plant.
(b)  Such a plant cannot be cultivated under
any circumstances.
(c) It is a Genetically Modified crop plant.
(d)  Such a plant is invasive

and harmfu] to
the ecosystem. "

G,E’%With reference to the period c;f Gupta dynasty
in ancient India, the towns Ghantasala,
Kadura and Chaul were well known as

(a)  ports handling foreign trade

(b)  capitals of powerful kingdoms
- (¢) places of exquisite store art and
architecture
(d) im_portant Buddhist pilgrimage centres
63. What is/are the advantagefadvan’cages of
zero tillage in agriculture ? '
1. Sowing of wl_ieat is possible without .
' burning the residue of Previous crop.

2. Without the need for nursery of rice
saplings, direct planting of paddy seeds
in the wet soil is possjble.

8. Carbon sequestration in the soil is
possible.

' Select the correct answer using the code given

below :

(@) 1land2 only

(b) 2 and 3 only

(e 3 only

(d) 1,2and3
B) |
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64. W@ & Jadud f < M F aEEr,
FafE ¥ I & Ry Peffeg § R
o s =R e S =N R wwar R 0
1.  SHE
2. wftmea M % 7
3. ket & <fiw
4. Foft (Horse gram)

5. WS I

6. Fhat

ﬂéﬁqm@wmwaﬁmgﬁq;

(a) Hhael 1,2,53 6

(b) Had 1,3,43M 6 - 67.

(c) hdd 2,8,43M 5

(d 1,2,3,4,536

65. ﬁm%%aﬁ%ﬁqmw%ﬁqﬁammﬁm
T UG H FATH € § U H@T 8 2
1Y qea o ¥4 § 77 Fefafaa 8 8 frge
g 8 ?

(2) Weu a¥ # wh & CO, F Iy ¥ 3y | 68
et el arfa

(o) felt 2@ 1 Sfarew et - sy,
ISR iz i C e re S T
3R AT YA HAT §

(c) Tt Serarg someff (Climate refugee)
mmmw%mwaﬁ%@
fpe T s

@ 9o 7R w R safE R gRr siveg
EACERCE T

HGY-P-JHKI (28-B)

66. & gl % seed % wel A, Pty

Al feam i | | _
1. 332 6 Af wliw 3t wh g waal 3
s R .
2. P Gl S HI NI U WA S
LRGN :
3. foar 7 el 4, =l wlie gl w
;?qmm%;aﬁfw‘mﬁwmmw
|

IRfa el ¥ A T e 2

(a) had 1

(b) hael 230K 3

(©) had 2

@ 1,23R3

“IR WA IO yHfa B R | 396 R wan
T BT 2 | T ¥ R 3@ sndww
210 renfga feeml 3fit 50 - 100 Fndex aut
W IAEEHA TSN R | Feh gHEIRd g
e Tt o @ N awa R o od ¥
%‘Qaﬂ‘c{ﬁ‘@\qﬁw%f’wgw_
e i R o

(a) HIH

b e

() =1

@ =™

R e 9o % we #, fefifee s w

ﬁﬁﬂw:

Lk s v v e
ffm & wwa ok fiwser
(submersible) 9t % forw w18} |

| oIl 1 AT A9 491 F) e
foe & wwar ® ok fiww Il ¥ Rw
&l |

| &)

I HAl W A DA w9 RAR 0

@) Hhad 1
(bh)  Fad 2
(@ 13M 23Hi
W@ TADLIR 2
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4. olicy on | 66.
Biofuels, which of the following can be used as |
raw materials for the production of biofuels ?

1.  Cassava |

9. Damaged wheat grains

3.  Groundnut seeds

4. Horse gram

5. Rotten potatoes

6.  Sugar beet

Select the correct answer using the code given

below :

(a) 1,2,5 and 6 only

(b) 1,3,4 and 6 only 67.

(¢) 2,3,4and5only

d 1,2,3,4,5and 6

65. Which one of the following statements best

describes the term ‘Social Cost of Carbon’ ?

It is a measure, in monetary value, of the

(a) long-term damage done by a tonne of | g8,
CO, emissions in a given year.

(h)  requirement of fossil fuels for a country
to provide goods and services to its
citizens, based on the burning of those
fuels.

(¢)  efforts put in by a climate refugee to
adapt to live in a new place.

(d)  contribution of an individual person to
the carbon footprint on the planet
Earth, |

HBY-P-yHk| (29-B)

According to India’s Natlonal P

With reference to pulse production in India,
consider the following stalements :

1. ' Black gram can_bg cultivated as both
kharif and ‘rubm}i

2. Green-gram alone accounts for nearly
half of pulse production.

3. In the last three decades, while the
production of kharif pulses' has
increased, the production of rabi pulses
has decreased.

Which of the statements given above is/are
correct ?

(a) 1 onlyl
(b) 2and3 onlyL
(¢) 2only -

(d 1,2and3

“The crop is subtropical in nature. A hard
frost is injurious to it. It requires at least
219 frost-free days and 50 to 100 centimeters
of rainfall for its growth. A light well-drained
soil capable of retaining moisture is ideally
suited for the cultivation of the crop.” Which
one of the following is that crop ?

(a) Cotton

(b) Jute

(c) Sugarcané
(d} Tea

W1th reference to solar water pumps, cunmder
the following statements ;

1. Solar power can be used for running

surface pumps and not for submersible
pumps.

2. Solar power can be used for running

centrifugal pumps and not the ones with
piston,

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2 omnly

() Both1and?2
(d)  Neither 1 nor 2
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69. WA § M ) A A wdnr gl F @l A,

70.

HGY-P-JHKI

fr=fafas weml v faar Ak

1. 9§ ‘gz Ry defera (bud
settlings) @ F&Q A It e HY ‘Iﬁ{
¥ vfedfa fen s @, q@ o grft o
¥ F=q Bl @ |

0. w4 e w @Y qqur frr S g, T
THHRIB  (single-budded) dF

chip

JHT iy FE-pfctel (many budded)

w6t gor A g g g |

5. w wan H qw i AR dg@ A
A B R, T - Aed A
w1 73 U 1 qe § Sgat g g |

4. nﬁﬁréﬁ,mﬁaﬁﬁ@lﬂwﬁﬂ?
AR aRd e |

IgEd wodl # ¥ FmA a2 2

(a) haed 137 2

(b) <had 3

(¢) dhad 13T 4

d %ﬁazﬁaﬂﬂ

yre % dod #, Frefafad § & fee/fe
ggfi/al =t wiftaa-ssel SV 7 S @ 2
1. wEa fafagsu =
9. Tim =nfUed (Legume intensification)

3. feamier iy

4, Eﬁzﬁ‘ﬂ'{ ‘_fﬁ[ (Vertical farming)

i faw e ke 1 AT R 3 g
(a) had 1,231 3

(b) a3

(¢) <had 4

@ 1,2,33N4

71.

72.

(30-B)

Wi i, ﬁm%@aﬁﬁﬁ?ﬁﬁm

Frdyr wrr o g 8 2
1wl el % F e & oy,

aued e fwifa we
0. afiek i ava affedl o wrey
3, TR gt ferepmm
4. Fyhbi H e foeeh B smfd
5. aifeh STTell G MY T AR
6. T gAI AT gREE B
HET
ﬂ%mw@wmzﬁ{ﬂﬂmgﬁq
(a) et 1,290 5
) %had 1,3,43M 5
| (c)_ aa—dalz,saﬁtﬁ

d 1,2,8,4, 536

g ¥ wf % “areeta HJYTd (Interest

Coverage Ratio)” gg <RI 9 Hgwd

29

1. w3, R RTwE &

. gaqH Aay = gHeH H 7eE FaT g |

9. TEITEE, PR AFFUTANM@E, &
AW I R % qouie H Heg
A

3. YR o4 arell B P S I
Ty ot g, IRl ORI
& Ia & @Ue B

A Ry T e T TR R T I A -
(a) e 1371 2 '
(b) IS 2

(c) Haw 1311 3

@ 1,233
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with reference 1o the curren trenmde

69, e _ . in the i
cultivation of sugarcane m lndin. consider the -
following statements : ' '

1. A substantial saving in speqd matetial jq
made when  ‘bud chip seitlings' are
raiged in a nursery angd transplanted in
the mann field.

2. When direct planting of setts is done
the germination percentage is better
with single-budded setts as compared to
setts with many buds.

3. If bad weather conditions prevail when
setts are directly planted, single-budded
setts have better survival as compared
to large setts.

4. jugarcane can be cultivated using
settlings prepared from tissue culture.

T —

Which of the statements given above is/are

correct ?

(a)  1and 2 only £

(b)  Sonly 4

(¢} 1and4 only

o 72,

(d) 2,3 and 4 only

70. In the context of India, which of the following
is/are  considered  to be practice(s) of
eco-friendly agriculture ?

1. Crop diversification

2. Legume intensification

3. Tensiometer use

4. Vertical farming

Select the correct answer using the code given

below :

(@) 1,2and3 only

(b) 3 only

(© 4 only

@ 1,2,3and4

HGY-p.yhK) ol

In India, which of the following can be

considered  as  public  investment  in
agricultire ?
1. Fixing Minimum Support Prics  for

agricultural produce of all crops

2 Computerization of Primary
Agricultural Credit Societies

3.  Social Capital development

4. Free electricity supply to farmers

5. Waiver of agricultural loans by the
banking system

6.  Setting up of cold storage facilities by
the governments

Select the correct answer using the code given
below :

(a) 1,2 and 5 only
(b) 1,3,4and 5 only
(¢) 2,3 and 6 only
(d 1,2,3,4,5and 6

What is the importance of the term “Interest
Coverage Ratio” of a firm in India ?

1. It helps in understanding the present
risk of a firm that a bank is going to
give loan to.

2. It helps in evaluating the emerging risk
of a firm that a bank is going to give
loan to.

3. The higher a borrowing firm'’s level of

Interest Coverage Ratio, the worse is its
ability to service its debt.

Select the correct answer using the code given
below :

(a)

(b)

1l and 2 only
2 only

() 1land3only -
(d 1,2and3 +
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79 wa % M R A Reflea i A TATEY

74.

HGY-P-JHKI

el NRal i A wae e )
wfe e udl ofl ¢

1. S e e

9, UTHR [N BANR HEAL

3. YW QI UG el

4, Iueir wEIRRRT (subsidies)

Y R T e o T AR ) IR g
(&) Fad 1, 2 it 4

(b) hee 1,334

(¢) had 2 A 8

(@ 1,2, 8304

ArfiRaa sl W fem iR

L frow awe 1 WA S 6 e
F e |

o T i s ¥ sfe A e S d
“ge ol HAS F S <Al B IR
@ 2 | |

s foa ot aul #, 2o o 4 ara F
SR T G wgl WiEr e @R |

i et 2 R TR

(a) Shae 131 2

(b) e 2

(c) “heel 3

(d 1,23M3

75’

76.

Rerferfiaa i @ fore aog & aofy =l 3 Gog
i wae § ¢

Gt A, ot s ol o

() sffern, werel, AR ud =g

() e, §0H, g ST ud ferrerim

W g@nfar, s, fmgy od aféqor wifen

e e 1S A % e, et

N R R ¥ fae Rl A SRR

(32-B) .

oy el IqeTed < ST € ?

L e uheeREl % @-EE ¥ #rifia
gsfl % ferg

0. e s i, daed @ fieft g
%1 & e

g wn oRard @ g v @
farg

4 FEE S F A %6 @l F Y

5. w&aﬂaa%ﬁmﬁn’fwamrﬁafiﬁf’ﬁmm
gl Az % e

AR R T e w1 SR w IR GA
() Fad 1,236
(b) et 1,330 4
() Fad 2, 8,435

@) 1,238 435
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” which of the following factors/policieg were'

75. In which one of the following groups are all

vt ; .
affecting the price of rce in Indig in this
recent past ?
1,  Minimum Support Price 7
9.  Government’s trading
3. Government’s stockpiling
4. Consumer subsidieg
Select the correct answer using the code given
below : )
(a) 1,2and4 only ~
() 1,3 and4 only
(¢) 2and 3 only 76.
@ 1,2,3and4
74, Consider the following statements -
| 1. The value of Indo-Sri Lanka trade has
consistently increased. in the last
decade.
2. “Textile and textile articles” constitute
an important item of trade between
India and Bangladesh.
3. In the last five years, Nepal has been
the largest trading partner of India in
South Asia. |
Which of the statements given above is/are
correct ?
(@) 1and 2 only
(b) 2 only
© 3 only
) 1,2and 3
HGY-p_ k| (33-B)

the four countries members of G20 ?

(a)

(b)

(c)

(d).

Argentina, Mexico, South Africa and
Turkey

Australia, Canada, Malaysia and

New Zealand g

Brazil, Iran, Saudi Arabia and Vietnam ./
=

Indonesia, Japan, Singapore and South

Korea

Under the Kisan Credit Cafd scheme,

short-term credit support is given to farmers

for which of the following purposes ?

1.’

Working - capital for maintenance of
farm assets

Purchase of combine harvesters,

tractors and mini trucks

Consumption requ.iremenllts of farm
households

Post-harvest expenses

Constructio_n of family house and

setting'up of village cold storage facility

Select the correct answer using the code given
below :

(a)

- (b)

(c)

@

1,2 and 5 only
1, 3 and 4 only
2,3,4and 5 only

11 2) 3,4 and5
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8.

HGY-P-JHKI

Prafdiaag waal v RacRii .
LW ARl Nl i i
D N M (woiphtage) S E 1w
et (W 3Ry g wie Qo R
o, Wbl Qi % el 1 e gRadd
) Al g, A f oprward |
3. s R S 3 o yaehif & g
e R g AR el % Rakwr sk
iads g el s R R |
Judfed @l A A WA ad R Y
() a1k 2
(b HES 2
80.
(©) W Y
W) 1,233
Prafifa gl W R At
73 A S il {'?
1, A —  JUSHH WK
2, Ay — il ¥R
3. aAlem —  hiE9AT "R
4, sl — (R wREIR
adaa ol A A WA wE ghfE
() Haet 19T 2
() Haet 3
(©  dad 3ol 4
) et 1,230 4
(34-8B)

RisiRifa et o fram AR :

1l o, g v fered P QAL
i e’ (MSP) 9 A0 (@ﬁz) T
¥ forefl o Teushg-anfe e 32
arefifi gran R |

o sl w et @ msp FEROAM
uepaRe wew # 3@ '
i st @ R wit W AR 7
Tl wde v |

W{iﬂﬁiﬁﬂﬁﬁﬁﬁ?-ﬁfﬁﬁé’fﬁ/ﬁ?

(0) Had 1

(b) FTA 2

© 13 22H

d) Ta1LTE2

iy avetearen ¥ wed #, Frfefed A

Rt ﬁﬁlT( Eﬁﬁm .

1. gffSs W (Commercial Paper‘:’
sreaemTel SRR T R

9 ‘G SAI.E (Certificate of Deposit)
el fod S gra feet frmm @ fda
fore ST et efebTef WO R |

3. ‘Memafl g (Call Money) =i
A F e Wy ey Irafy w1 faw
2

4 YR g (Zero-Coupon Bonds)
agfa =i S g frm s fFefa
fF 9 9 W i ey Sive
3

I el H A AR FE AR 2

(n) Faa 13 2

(b Had 4

(©) hae 13113

) Fas 2,39 4
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7

(b) 2 only
(¢) 3only L 80.
(d 1,2and3 | ~
78. Consider the following pairs
River _ Flows into
1. Mekong — Andaman Sea
2.  Thames —  Irish Sea
3.  Volga —  Caspian Sea £
4, Zambezi —  Indian Ocean
Which of the pairs given above is/are correctly
matched ?
(a) 1and2only
(b)  3only <
(¢)  3and4only L
(d) 1,2and 4 only
HGY-P_ypK (365-B)

7 Consider the following statementsg -

1. The weightage of fooq in C
Price Index (CPI) is hig

msumer
her than that in

Wholesale Price Index (WPID). -
9. The WPI does not capture changes in

the prices of services, which CPI does

3.  Reserve Bank of India has now adopted
WPI as its key measure of inflation and

to decide on changing the key policy
rates.

Which of the statements given- above is/are

correct ?

(a) 1land 2 only

79.

Consider the following statements :

1. In the case of all cereals, pulses and
oil-seeds, the procurement at Minimum
Support Price (MSP) is unlimited in any
State/UT of India.

9.  In the case of cereals and pulses, the
MSP is fixed in any State/UT at a level
to which the market price will never
rise.

Which of the statements given above is/are

correct ?

(a) lonly

(b) 2only

(¢) Both1land2
(d) Neither 1 nor 2

With reference to the Indian economy,
consider the following statements :

1. ‘Commercial Paper is a short-term
unsecured promissory note.

2. ‘Certificate of Deposit’ is a long-term
instrument issued by the Reserve Bank
of India to a corporation. .

3. ‘Call Money’ is a short-term finance
used for interbank transactions.

4.  “Zero-Coupon Bonds’ are the interest
bearing short-term bonds issued by the
Scheduled Banks too
corporations.

Commercial

Which of the statements given above is/are
correct ?

(a) 1and 2 only

(b) 4 only [

(¢) 1and 3 only

(d)  2,3and4only]
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81. WG ¥ weny fesh faw & wed i, Pafafaa | 84, ity mm%éﬂﬁ,ﬁqﬁf’?ﬂﬁﬁ
# ¥ FR-d 3wh wyE e wrE S R o FHA ﬂ;_-rq;nqmﬁaﬁﬂﬁflﬂ%/%-
() ¥g yoa: fhdl gEieg wft # s 1. uftamd a1 e 78 w0
vl g e e aren Raw R | 9. fee el w A T
(b) T yEIa: T R 7 F aen 5 5w 3. U fore (Treasury bills)
o 43 o g g 0 e ) 7
(C)%@Tﬁém%ﬁmﬁm-mm (a) Had 1
arafér g 2 | (b) e 13 2
@ @ fesh weuma Rawel gm wRd © 393
wfofeat # fpan I aren W @ | @ 1,233
82, dqHE H WRd % aqaﬁgﬁam%ﬂaﬁﬁ, : “m.ﬂ-é-t’.- :
1. lﬂfgmamﬁah,ma%mﬁ gm%wﬂqqﬁr@mﬁ?
2w b R a v, e, W | @ §o RfEw @ @ M
il S ot & Ere o aul i e oTEl e
2 ) FB FEa qERE B OEN FE @ R
3. o <t Fanail & fafa, daet & e | 3T R ST
g il g | (c)@ﬁﬁsﬂmﬁmmﬁﬁgaﬂi
4, YR I Fo e SvE @l B 31 e JaHl g
L CLAUER @ Fo wEl wifed T A § S I
F3 f3u T e 1 TET A FH I Bt wfie T
(a) “had 137 2 |
(b) heret 2 3R 4 86, ‘cTR-gsfia fiaw Ul (TRIMS) % Hed #,
(c) ad 3 : ffafad wul § @ S T8 8 2
@ ¥ 1,830 4 1. faesh vl g fore S Tt s @
g3. it THER H W 9H 9 Ug ‘A quq'u”qu;ﬁg“"ﬁﬁa'&"'ﬁél
SqTE 3eUTEUe (West Texas Intermediate)’, 2. A aEgal Td Udel Ml % MR °
freferfiaa # & frm o w1 300 & wafir eiftr v S e B E
?? | 5. frReh frdw 3 frew @ g T # |
@ & T H <9 o 70 e 1 el < W s g
(b) wEHI-YT] (Bullion) =l (a) hael 1371 2
(c) 9 Y] i hl (b) e 2
d) gﬁqqaﬁ (c) had 1311 3
‘ @ 1,23W3
HGY-P-JHKI (36-B)
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81, With reference to Foreign Direct Investment | 84,
n 1“{“1‘., \\'hit‘h one ol the I\n"l]“'i"g ig
considered its major characteristic ?

@ It is the investment through capital
instruments essentially in a listed
company,

{b) It iz a lgrgely non-debt creating capital
flow. fb

(© It is the investment which involves
debt-servicing.

(d) It is the investment made by foreign
institutional investors in  the
Government securities, 85.

82. With reference to the international trade of
India at present, which of the following
statements is/are correct ?

1. India’s merchandise exports are less
-than its merchandise imports. +

2. India’s imports of iron and steel,
chemicals, fertilisers and machinery
have decreased in recent years.

3.  India’s exports of services gre more than
its imports of services.

4, India suffers from an overall | 86
trade/current account deficit.

Select the correct answer using the code given

below : )

(a) 1and2only

(b) 2 and 4 only

(c) 3only

(d) 1,3 and 4 only

83. The term ‘West Texas Intermediate’,
sometimes found in news, refers to a grade of
(a) Crude oil
(b) Bullion
(c) Rare earth elements
(d) Uranium

HGY-P-JHKI (37-8B)

In the context of the Indian economy,
non-financial debt includes which of the
following ?

1. Housing loans owed hy households

2. Amounts outstanding on eredit cards

3. Treasury bills ;

Select the correct answer using the code given
below :

(a) 1lonly

~(b) 1land 2 only

(¢) 3only
(d 1,2and3

In India, why are some nuclear reactors kept
under “IAEA Safeguards” while others are
not ?

(a) Some wuse uranium and others use

thorium L

(b) Some use imported uranium and others
use domestic supplies

(c) Some are operated by foreign
 enterprises and others are operated by
domestic enterprises £

(d) Some are State-owned and others are
. privately-owned (_

With reference to Trade-Related Investment

Measures (TRIMS), which of the following
statements is/are correct ?

1. Quantitative restrictions on imports by
foreign investors are prohibited.

2, They apply to investment measures
related to trade in both goods and
services.

3. They are not concerned with the
regulation of foreign investment.

Select the correct answer using the code given
below :

(a) 1land?2 6n1y
(b) 2 only

(¢) 1land3only
(d 1,2and3
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HGY-P-JHKI

g87. IR am.a.and. wararE Mie Aifa @ s

A w1 Aoty A R, @ ag Foafafad 8 &

FgT wm 9
% émﬂaimﬂma{gma:ﬁlmgﬂ
JFEFd FHT

0. diw wrEh gfawm @ H agE
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- 87. If the RBI decides to adopt an expansionist | 89.
- monetary policy, which of the following would
it not do ? '
—

1. Cut and optimize the Statutory
Liquidity Ratio

2.  Increase the Marginal Standing Facility
Rate ' :

3.  Cut the Bank Rate and Repo Rate

Select the correct answer using the code given

below : .

(@) land2only

(b) 2only

() land3only ,

(d  1,2and3 <

88. With reference to the Indian economy after | 90.
the 1991 economic liberalization, consider the
following statements : '

1.  Worker productivity (¥ per worker at
2004 — 05 prices) increased in urban
areas while it decreased in rural areas.

2. T:he percentage share of rural areas in
the workforce steadily increased. <.

3. In rural areas; the growth in non-farm
economy increased.

4. " The growth rate in rural employment
decreased.

Which of the statements given above is/are

correct ?

(@ land2only

(b) 3 and4only

(¢) 3only

(d) 1,2and4only A

HGY-P-JHKI (39-B)

Consider the following statements :

1.  In terms of short-term credit delivery to
_ the agriculture sector, District Central
Cooperative Banks (DCCBs) deliver
more credit in comparison to Scheduled
Commercial Banks and Regional Rural
Banks.

2. One of the most important functions of
DCCBs is to. provide funds to the
Primary Agricultural Credit Societies.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2 only

(¢) Bothland2
) - Neither 1 nor 2

insurance for

In India,
o r———e
individuals, which of the following benefits

under ecyber

.are generally covered, in addition to payment
for the loss of funds and other benefits ?

1. Cost of restoration of the computer
system in case of mg}y-re/ disrupting
access to one’s computer

2. Cost of a new computer if some m\is/crﬁ)&nt
wilfully damages it, if proved.se

3. Cost of hiring a specialized consultant to

minimize the loss

in case of cyber
extortion \

4.  Cost of defence in the Court of Law if any
third party files a suit

Select the correct answer using the code given
below ;

(a) 1, 2and 4 only
(b) 1,3and4only &«
() 2and3only £
(d) 1,2,3and4
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1. APHE T 3aH
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91.  With reference to the eulturnl history of India, 04, With reference to India's biodiversity,

consider the following pairs : )
Ceylon  frogmouth, Coppersmith barbet,

1. Pariveajakn —  Renunciant and
Wanderer Gray-chinned minivet and White-throated
2. Shramana —  Priost with n redstart are
high status () Birds
3. 1 ] vof .
Upasaka ]l;lixl rll‘{l}llll:::m of () Peimntos £
Which of tho pairs given above nre corroctly (¢)  Roptiles

matched ?

(n)  Tand2only
(h)  Land 3 only
(¢) 2and 3only
() 1,2andd 05, Which ono of the following protected nreas is

(d) Amplnihiunu«

' . woll-known  for  tho consoervation of a
92,  With roforence to Indinn olephants, consider

tho following alatomoents ¢ gub-spocios of  tho  Indian  swamp  deer
1. Tho loandor of an elophnnl group is n (Barasingha) that thrivos well on hard ground
lemalo, and in exclusivoly graminivorous ?
2. Tho maximum gostation poriod ean bo
22 monthe, () Kanha National Park o<
3. An olophant ean normally go on enlving Y M Nitloral Bark ol
W tho ngo of 40 yoors only,
4, Among tho Statos in Indin, the highest (¢)  Mudumalai Wildlife Sanctuary &

olophant populntion fnin Keraly,
PR (d) Tl Chhapar Wildlifo Sanctuary

Which of' the stntoments given nbove iw/nre
corroel ?

() and 2 only

(b 2und 4 only 93, Stool wlag can bo the matorial for which of the
(©)  Jonly

(ollowing ?
() 1,3 anddonly o

1. Construction of baso voud

03, Which of tho [ollowing Protoctod Areay are
loentod in Couvery himin ? 2. Twprovomont of agricultural soil

1, Naognreholo Nodional Park N
2, Papikondn National Parlc o
3 Suthynmnngalam Tigor Ronorve

’roduction of coment

Soloet the corroet nuswor using the code given

Ao Waynnnd W Snoetunry holow :

Soleet the corroel nnnwor using the codoe given M) 1 and 2 only

holow @

) Land 2 only A (M 2and 3 only

(h) W oand A only ) Jid Sonly

(e) Sband A4 only

() 2 handd A @ L2and3
HGY-P-JHKI (41=8)
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98.
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oy, P § & R s w A ﬂ“?ﬁwa‘““ﬂﬁ%m
et & S ® 2 | .
1 o e o W aEER ghgE WEM % I F
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97.  Which of the following are the most likely

/ places to find the musk deer in its natural

98. In rural road construction, the use of which of
the following is preferred for ensuring
environmental sustainability or to reduce
carbon footprint ? _

1. Copper slag /
2. Cold mix asphalt technology‘/
3.  Geotextiles ~
4. Hot mix asphalt technology
5.  Portland cement -
Select the correct answer using the code given
below :
(@) 1,2 and 3only
(b) 2,3 and 4 only
(¢) 4and5only
(d)  1and 5 only
HGY-P-JHKI (43—

habitat. ?

1. Askot Wildlife Sanctuary
2.  Gangotri National Park
3.  Kishanpur Wildlife Sanctuary

4.  Manas National Park

Select the correct answer using the code given
below :

(a) land2only <_
(b) 2and 3only &
() 3and4only

(d 1and4only

09,

100.

Consider the following statements :

L. Coal ash contains arsenic, lead and

mercury.

2. Coal-fired power plants release sulphur
dioxide and oxides of nitrogen into the

environment.

3. High ash content is observed in Indian

coal.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2and 3 only
(c) 3Jonly

(d) 1,2and3

What is the use of biochar in farming ?

. 1. Biochar can be used as a part of the

B)

growing medium in vertical farming.

2. When biochar is a part of the growing
medium, it promotes the growth  of

nitrogen-fixing microorganisms.

3. When biochar is a part of the growing
medium, it enables the growing medium

to retain water for longer time.

Which of the statements given above is/are
correct ?

(@) 1and 2 only
(b)  2only
(¢) 1land3only

(d) 1,2and3
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